06273 F% DIN 950 , 45l

7= miiEA

ME

F5 , B4,

HBHEEFR , s A ME , 2ReFLE,
BHEDIRNFR , @BIPo hNE , KEENESHCLE,

I
RERTEHIFMHATE,
BEER

NHAERRELBRRELENFLR,

DIN 39/ DIN 98
|
i
/
/
| & i
S ] ] -+ 3
A W77 1A
L1
1
i
L3
FH# DIN950 , 484l , TFW

06273-0080X10 TN 80 | 10H7 24 116|29| - - 3 - -
06273-0080X12 ENMA 80 | 12H7 24 |16(29| - - 3 - -
06273-0100X10 ENA 100 | 10H7 26 |17|33| - - 3 - -
06273-0100X12 EMNA 100 | 12H7 26 |17|33| - - 3 - -
06273-0125X12 ENA 125 | 12H7 28 [18|36| - - 3 - -
06273-0125X14 ENA 125 | 14H7 28 18|36 - - 3 - -
06273-0140X14 ENMA 140 | 14H7 30 |19(39| - - 3 - -
06273-0140X16 ENA 140 | 16H7 30 [19|39| - - 3 - -
06273-0160X14 EMNA 160 | 14H7 32 120|40| - - 3 - -
06273-0160X16 ENA 160 | 16H7 32 120|40| - - 3 - -
06273-0180X16 ENAL 180 | 16H7 37 22|43 - - 3 - -
06273-0180X18 ENMA 180 | 18H7 37 22|43\ - - 3 - -
06273-0200X18 ENA 200 | 18H7 38 [24|45| - - 3 - -
06273-0200X22 ENA 200 | 22H7 38 [24|45| - - 3 - -
06273-0250X22 ENA 250 | 22H7 45 (28|50 - - 5 - -

© norelem www.norelem.com



06273 F% DIN 950 , 45l

06273-0250X26 EL 250 | 26H7 | 45 |28|50| - - 5 - -
06273-0315X26 ELA 315 | 26H7 | 53 |33|56| - - 5 - -
06273-0315X30 EAL 315 | 30H7 | 53 |33|56| - - 5 - -
06273-0400X30 EfLA 400 | 30H7 | 65 |38|63| - - 5 - -
06273-0400X34 ELA 400 | 34H7 | 65 |38|63| - - 5 - -
06273-0500X34 EfAL 500 | 34H7 | 78 |45|72| - - 5 - -
06273-0500X40 EfA 500 | 40H7 | 78 |45|72| - - 5 - -
06273-1080X10 IR EMNTL | 80 | 10H7 | 24 [16|29] 3 | 11,4 | 3 - -
06273-1080X12 I ENTL | 80 | 12H7 | 24 [16|29] 4 | 13,8 | 3 - -
06273-1100X10 IR EMTL | 100 | 10H7 | 26 [17|33] 3 | 11,4 | 3 - -
06273-1100X12 IR ENTL | 100 | 12H7 | 26 [17|33] 4 | 13,8 | 3 - -
06273-1125X12 IR ENTL | 125 | 12H7 | 28 [18|36] 4 | 13,8 | 3 - -
06273-1125X14 IR ETL | 125 | 14H7 | 28 [18|36] 5 | 16,3 | 3 - -
06273-1140X14 IR ETL | 140 | 14H7 | 30 [19|39]| 5 | 16,3 | 3 - -
06273-1140X16 IR EMTL | 140 | 16H7 | 30 [19|39] 5 | 18,3 | 3 - -
06273-1160X14 IR ETL | 160 | 14H7 | 32 [20|40| 5 | 16,3 | 3 - -
06273-1160X16 IR E{FL | 160 | 16H7 | 32 [20|40| 5 | 18,3 | 3 - -
06273-1180X16 IR ETL | 180 | 16H7 | 37 [22|43] 5 | 183 | 3 - -
06273-1180X18 IR ETL | 180 | 18H7 | 37 [22|43] 6 | 20,8 | 3 - -
06273-1200X18 IR E/FL | 200 | 18H7 | 38 |24|45| 6 | 20,8 | 3 - -
06273-1200X22 IR E L | 200 | 22H7 | 38 [24|45| 6 | 24,8 | 3 - -
06273-1250X22 IR ETL | 250 | 22H7 | 45 [28|50| 6 | 24,8 | 5 - -
06273-1250X26 IR EM L | 250 | 26H7 | 45 [28|50| 8 | 29,3 | 5 - -
06273-1315X26 IR ETL | 315 | 26H7 | 53 [33|56| 8 | 29,3 | 5 - -
06273-1315X30 IR E L | 315 | 30H7 | 53 |33|56| 8 | 33,3 | 5 - -
06273-1400X30 IR E{ L | 400 | 30H7 | 65 [38|63| 8 | 33,3 | 5 - -
06273-1400X34 IR E{LFL | 400 | 34H7 | 65 [38|63|10| 37,3 | 5 - -
06273-1500X34 IR E/ L | 500 | 34H7 | 78 [45|72/10| 37,3 | 5 - -
06273-1500X40 IR E L | 500 | 40H7 | 78 [45|72]12| 433 | 5 - -
06273-2080X10 EA 80 | 10H7 | 24 |16|29]| - - 3 216 x M6 x 50 -
06273-2080X12 EAL 80 | 12H7 | 24 |16|29]| - - 3 216 x M6 x 50 -
06273-2100X10 ELA 100 | 10H7 | 26 |17|33]| - - 3 216 x M6 x 50 -
06273-2100X12 ELA 100 | 12H7 | 26 |17|33]| - - 3 216 x M6 x 50 -
06273-2125X12 EfL 125 | 12H7 | 28 |18|36]| - - 3 220 x M8 x 64 -
06273-2125X14 ELA 125 | 14H7 | 28 |18|36]| - - 3 220 x M8 x 64 -
06273-2140X14 EAL 140 | 14H7 | 30 |19|39]| - - 3 220 x M8 x 64 -
06273-2140X16 EfLA 140 | 16H7 | 30 |19|39]| - - 3 220 x M8 x 64 -
06273-2160X14 ELA 160 | 14H7 | 32 |20]40| - - 3 825 x M10 x 80 -
06273-2160X16 EAL 160 | 16H7 | 32 |20|40| - - 3 225 x M10 x 80 -
06273-2180X16 ELA 180 | 16H7 | 37 |22|43]| - - 3 225 x M10 x 80 -
06273-2180X18 EAL 180 | 18H7 | 37 |22|43| - - 3 225 x M10 x 80 -
06273-2200X18 EfL 200 | 18H7 | 38 |24|45| - - 3 825 x M10 x 80 -
06273-2200X22 EfLA 200 | 22H7 | 38 [24|45| - - 3 225 x M10 x 80 -
06273-2250X22 EAL 250 | 22H7 | 45 |28|50| - - 5 232 x M12 x 100 -
06273-2250X26 EALA 250 | 26H7 | 45 |28|50| - - 5 232 x M12 x 100 -
06273-2315X26 EAL 315 | 26H7 | 53 |33|56| - - 5 232 x M12 x 100 -
06273-2315X30 EfL 315 | 30H7 | 53 |33|56| - - 5 232 x M12 x 100 -
06273-2400X30 ELA 400 | 30H7 | 65 |38|63| - - 5 236 x M16 x 112 -
06273-2400X34 EAL 400 | 34H7 | 65 |38|63| - - 5 236 x M16 x 112 -
06273-2500X34 ELA 500 | 34H7 | 78 |45|72| - - 5 236 x M16 x 112 -
06273-2500X40 ELA 500 | 40H7 | 78 |45|72| - - 5 236 x M16 x 112 -
06273-3080X10 HIEENTL | 80 | 10H7 | 24 [16|29] 3 | 11,4 | 3 216 x M6 x 50 -
06273-3080X12 IR ENTL | 80 | 12H7 | 24 |16|29| 4 | 13,8 | 3 216 x M6 x 50 -
06273-3100X10 IR EMNTL | 100 | 10H7 | 26 [17|33] 3 | 11,4 | 3 216 x M6 x 50 -
06273-3100X12 IR ENTL | 100 | 12H7 | 26 [17|33] 4 | 13,8 | 3 216 x M6 x 50 -
06273-3125X12 IR EMTL | 125 | 12H7 | 28 [18|36] 4 | 13,8 | 3 220 x M8 x 64 -
06273-3125X14 HIEENTL | 125 | 14H7 | 28 [18|36] 5 | 16,3 | 3 220 x M8 x 64 -
06273-3140X14 I ERENFL | 140 | 14H7 | 30 [19]39]| 5| 163 | 3 220 x M8 x 64 -
06273-3140X16 IR EMTL | 140 | 16H7 | 30 [19|39] 5 | 18,3 | 3 220 x M8 x 64 -
06273-3160X14 IR ETL | 160 | 14H7 | 32 [20|40| 5 | 16,3 | 3 225 x M10 x 80 -
06273-3160X16 IR E L | 160 | 16H7 | 32 [20|40| 5 | 18,3 | 3 225 x M10 x 80 -
06273-3180X16 IR ETL | 180 | 16H7 | 37 [22|43] 5 | 18,3 | 3 225 x M10 x 80 -
06273-3180X18 IR EFL | 180 | 18H7 | 37 [22|43] 6 | 20,8 | 3 225 x M10 x 80 -
06273-3200X18 IR E L | 200 | 18H7 | 38 [24|45| 6 | 20,8 | 3 225 x M10 x 80 -

© norelem www.norelem.com




06273 F% DIN 950 , 45l

06273-3200X22 HIFFERELFL | 200 | 22H7 | 38 [24|45| 6 | 24,8 | 3 225 x M10 x 80 -
06273-3250X22 IR ENMTL | 250 | 22H7 | 45 [28|50| 6 | 248 | 5 232 x M12 x 100 -
06273-3250X26 HIFERMEN L | 250 | 26H7 | 45 [28|50| 8 [ 29,3 | 5 232 x M12 x 100 -
06273-3315X26 WA EA | 315 | 26H7 | 53 |33]56| 8 [ 293 | 5 232 x M12 x 100 -
06273-3315X30 WM EMSL | 315 ] 30H7 | 53 [33]56] 8 [ 33,3 ] 5 232 x M12 x 100 -
06273-3400X30 HIFFEREFL | 400 | 30H7 | 65 [38(63] 8 [ 33,3 ] 5 236 x M16 x 112 -
06273-3400X34 HITFERIE(LFL | 400 | 34H7 | 65 |38|63|10| 373 | 5 236 x M16 x 112 -
06273-3500X34 HITFERENFL | 500 | 34H7 | 78 [45(72[10[ 373 | 5 236 x M16 x 112 -
06273-3500X40 HIFFEREFL | 500 | 40H7 | 78 [45(72[12] 433 | 5 236 x M16 x 112 -
06273-4080X10 ENA 80 | 10H7 | 24 [16]|29]| - - 3 - 216 x M6 x 54.5
06273-4080X12 EMAL 80 | 12H7 | 24 [16]|29]| - - 3 - 216 x M6 x 54.5
06273-4100X10 EMAL 100 | 10H7 | 26 [17|33] - - 3 - 216 x M6 x 54.5
06273-4100X12 EMA 100 | 12H7 | 26 [17[33] - - 3 - 216 x M6 x 54.5
06273-4125X12 ENFL 125 | 12H7 | 28 [18|36] - - 3 - 220 x M8 x 67
06273-4125X14 ENL 125| 14H7 | 28 [18[36] - - 3 - 220 x M8 x 67
06273-4140X14 EMA 140 | 14H7 | 30 [19[39] - - 3 - 220 x M8 x 67
06273-4140X16 EMAL 140 | 16H7 | 30 [19]39] - - 3 - 220 x M8 x 67
06273-4160X14 EMA 160 | 14H7 | 32 [20[40] - - 3 - 25 x M10 x 83
06273-4160X16 ENMAL 160 | 16H7 | 32 [20[40] - - 3 - 225 x M10 x 83
06273-4180X16 EN 180 | 16H7 | 37 |22|43] - - 3 - 25 x M10 x 83
06273-4180X18 EMA 180 | 18H7 | 37 [22[43] - - 3 - 25 x M10 x 83
06273-4200X18 ENMFL 200 | 18H7 | 38 [24|45]| - - 3 - 225 x M10 x 83
06273-4200X22 EMF 200 | 22H7 | 38 [24[45]| - - 3 - 25 x M10 x 83
06273-4250X22 ENME 250 | 22H7 | 45 [28]50] - - 5 - 232 x M12 x 105,5
06273-4250X26 EN 250 | 26H7 | 45 |28|50| - - 5 - 232 x M12 x 105,5
06273-4315X26 EMA 315| 26H7 | 53 [33[56] - - 5 - 232 x M12 x 105,5
06273-4315X30 ENMAL 315| 30H7 | 53 |33[56]| - - 5 - 232 x M12 x 105,5
06273-4400X30 ENL 400 | 30H7 | 65 |[38|63| - - 5 - 236 x M16 x 117
06273-4400X34 ENMF 400 | 34H7 | 65 |38|63| - - 5 - 236 x M16 x 117
06273-4500X34 EMAL 500 | 34H7 | 78 |45|72]| - - 5 - 236 x M16 x 117
06273-4500X40 EMA 500 | 40H7 | 78 [45|72] - - 5 - 236 x M16 x 117
06273-5080X10 HIFERMEMIL | 80 | 10H7 | 24 [16]29] 3 [ 11,4 ] 3 - 216 x M6 x 54.5
06273-5080X12 WM ENMIL | 80 | 12H7 | 24 [16]29] 4 | 13,8 ] 3 - 216 x M6 x 54.5
06273-5100X10 IR EA | 100 | 10H7 | 26 [17]33] 3 [ 114 | 3 - 216 x M6 x 54.5
06273-5100X12 HITFERNEMIL | 100 | 12H7 | 26 [17|33| 4 | 13,8 | 3 - 216 x M6 x 54.5
06273-5125X12 I ENA | 125 12H7 | 28 [18|36| 4 | 13,8 | 3 - 220 x M8 x 67
06273-5125X14 HITFERNEMIL | 125 ] 14H7 | 28 [18[36] 5 | 16,3 | 3 - 220 x M8 x 67
06273-5140X14 HITEAENA | 140 | 14H7 | 30 [19]39] 5[ 16,3 | 3 - 220 x M8 x 67
06273-5140X16 I EA | 140 | 16H7 | 30 [19]39] 5 | 18,3 | 3 - 220 x M8 x 67
06273-5160X14 HITFERNEMIL | 160 | 14H7 | 32 [20]40] 5 | 16,3 | 3 - 225 x M10 x 83
06273-5160X16 HITEAENA | 160 | 16H7 | 32 [20]40| 5 | 183 | 3 - 25 x M10 x 83
06273-5180X16 HIFEREMFL | 180 | 16H7 | 37 [22]43] 5 [ 18,3 | 3 - 225 x M10 x 83
06273-5180X18 HITFEAE(A | 180 | 18H7 | 37 |22|43| 6 (20,8 | 3 - 25 x M10 x 83
06273-5200X18 IR EA | 200 | 18H7 | 38 |24|45| 6 [ 20,8 | 3 - 25 x M10 x 83
06273-5200X22 W BRI E(FL | 200 | 22H7 | 38 |24|45| 6 [ 248 | 3 - 225 x M10 x 83
06273-5250X22 HITEAENA | 250 | 22H7 | 45 |28|50| 6 | 24,8 | 5 - 232 x M12 x 105,5
06273-5250X26 IR ENA | 250 | 26H7 | 45 |28|50] 8 [ 29,3 | 5 - 232 x M12 x 105,5
06273-5315X26 HIFFEREMFL | 315 | 26H7 | 53 |33|56| 8 | 29,3 | 5 - 232 x M12 x 105,5
06273-5315X30 I EA | 315 30H7 | 53 |33|56| 8 [ 33,3 | 5 - 232 x M12 x 105,5
06273-5400X30 BRI E{FL | 400 | 30H7 | 65 |38(63| 8 [ 333 | 5 - 236 x M16 x 117
06273-5400X34 HITREAE A | 400 | 34H7 | 65 |38(63[10[ 37,3 | 5 - 236 x M16 x 117
06273-5500X34 I EA | 500 | 34H7 | 78 |45|72/10[ 373 | 5 - 236 x M16 x 117
06273-5500X40 HIT BRI E(LAL | 500 | 40H7 | 78 |45|72|12| 433 | 5 - 236 x M16 x 117

© norelem www.norelem.com




